## COLLOQUIUM MATHEMATICUM

# ASYMPTOTIC BEHAVIOR OF A SEQUENCE DEFINED BY ITERATION WITH APPLICATIONS 

BY
STEVO STEVIĆ (Beograd)


#### Abstract

We consider the asymptotic behavior of some classes of sequences defined by a recurrent formula. The main result is the following: Let $f:(0, \infty)^{2} \rightarrow(0, \infty)$ be a continuous function such that (a) $0<f(x, y)<p x+(1-p) y$ for some $p \in(0,1)$ and for all $x, y \in(0, \alpha)$, where $\alpha>0 ;(\mathrm{b}) f(x, y)=p x+(1-p) y-\sum_{s=m}^{\infty} \mathcal{K}_{s}(x, y)$ uniformly in a neighborhood of the origin, where $m>1, \mathcal{K}_{s}(x, y)=\sum_{i=0}^{s} a_{i, s} x^{s-i} y^{i}$; (c) $\mathcal{K}_{m}(1,1)=\sum_{i=0}^{m} a_{i, m}>0$. Let $x_{0}, x_{1} \in(0, \alpha)$ and $x_{n+1}=f\left(x_{n}, x_{n-1}\right), n \in \mathbb{N}$. Then


 the sequence $\left(x_{n}\right)$ satisfies the following asymptotic formula:$$
x_{n} \sim\left(\frac{2-p}{(m-1) \sum_{i=0}^{m} a_{i, m}}\right)^{1 /(m-1)} \frac{1}{\sqrt[m-1]{n}}
$$

1. Introduction. In this paper we consider the asymptotic behavior of some classes of sequences. The well known examples are:
(a) $x_{n}=x_{n-1}-x_{n-1}^{2}, x_{0} \in(0,1)$;
(b) $x_{n}=\arctan x_{n-1}, x_{0} \in(0, \infty)$;
(c) $x_{n}=\sin x_{n-1}, x_{0} \in(0, \infty)$;
(d) $x_{n}=\ln \left(1+x_{n-1}\right), x_{0} \in(0, \infty)$.

Examining their convergence is a simple task. However a somewhat harder problem is finding the asymptotic behavior for the sequences defined by (a)-(d). Such problems frequently appear in problem section in some journals (see, for example, [5] and [21]).

The following theorem was proved in [15]. The proof appearing there is attributed to Jacobsthal.

Theorem A. Let $f:(0, \alpha) \rightarrow(0, \alpha)$, where $\alpha>0$, be a continuous function such that $0<f(x)<x$ for every $x \in(0, \alpha)$ and $f(x)=x-a x^{k}+$ $b x^{k+p}+o\left(x^{k+p}\right)$ as $x \rightarrow+0$, where $k>1, p, a$ and $b$ are positive numbers.

[^0]Let $x_{0} \in(0, \alpha)$ and $x_{n}=f\left(x_{n-1}\right), n \geq 1$. Then

$$
x_{n} \sim \frac{1}{((k-1) a n)^{1 /(k-1)}} .
$$

Our proof of Theorem A in [17] is somewhat different from the original one, and the idea and structure of the proof were the starting point and inspiration for our further investigations. For this class of sequences we described, in [17], a method for finding an unlimited number of members in its asymptotic development. Our goal is to generalize Theorem A. We prove the following theorems.

Theorem 1. Let $f:(0, \infty)^{2} \rightarrow(0, \infty)$ be a continuous function such that
(a) $0<f(x, y)<p x+(1-p) y$ for some $p \in(0,1)$ and all $x, y \in(0, \alpha)$, where $\alpha>0$;
(b) $f(x, y)=p x+(1-p) y-\sum_{s=m}^{\infty} \mathcal{K}_{s}(x, y)$ uniformly in a neighborhood of the origin, where $m>1, \mathcal{K}_{s}(x, y)=\sum_{i=0}^{s} a_{i, s} x^{s-i} y^{i}$;
(c) $\mathcal{K}_{m}(1,1)=\sum_{i=0}^{m} a_{i, m}>0$.

Let $x_{0}, x_{1} \in(0, \alpha)$ and

$$
\begin{equation*}
x_{n+1}=f\left(x_{n}, x_{n-1}\right), \quad n \in \mathbb{N} \tag{1}
\end{equation*}
$$

Then the sequence $\left(x_{n}\right)$ satisfies the following asymptotic formula:

$$
\begin{equation*}
x_{n} \sim\left(\frac{2-p}{(m-1) \sum_{i=0}^{m} a_{i, m}}\right)^{1 /(m-1)} \frac{1}{\sqrt[m-1]{n}} \tag{2}
\end{equation*}
$$

THEOREM 2. Let $f:(0, \infty)^{k+1} \rightarrow(0, \infty)$ be a continuous function such that
(a) $0<f\left(z_{1}, \ldots, z_{k+1}\right)<1$ for all $z_{1}, \ldots, z_{k+1} \in(0, \alpha)$, where $\alpha>0$;
(b) $f\left(z_{1}, \ldots, z_{k+1}\right)=1-\sum_{s=m}^{\infty} \mathcal{K}_{s}\left(z_{1}, \ldots, z_{k+1}\right)$ uniformly in a neighborhood of the origin, where $m \geq 1$, and $\mathcal{K}_{s}\left(z_{1}, \ldots, z_{k+1}\right)$ is a homogeneous polynomial of order s;
(c) $\mathcal{K}_{m}(1, \ldots, 1)>0$.

Let $x_{0}, x_{1}, \ldots, x_{k} \in(0, \alpha)$ and

$$
\begin{equation*}
x_{n+1}=x_{n} f\left(x_{n}, x_{n-1}, \ldots, x_{n-k}\right), \quad n \geq k \tag{3}
\end{equation*}
$$

Then the sequence defined by (3) satisfies the following asymptotic formula:

$$
\begin{equation*}
x_{n} \sim\left(\frac{1}{m \mathcal{K}_{m}(1, \ldots, 1)}\right)^{1 / m} \frac{1}{\sqrt[m]{n}} \tag{4}
\end{equation*}
$$

In [6] (see also [1] and [8]) the generalized Beddington-Holt stock recruitment model was considered, i.e.

$$
\begin{equation*}
x_{n+1}=a x_{n}+\frac{b x_{n-1}}{1+c x_{n-1}+d x_{n}}, \quad x_{0}, x_{1}>0, \quad n=1,2, \ldots, \tag{5}
\end{equation*}
$$

where $a \in(0,1), b \in \mathbb{R}_{+}$and $c, d \in \mathbb{R}_{+} \cup\{0\}$, with $c+d>0$.
In [18] it was proved that in the case $a+b<1$, the zero equilibrium is a geometrically global attractor of all positive solutions of equation (5).

In the case $a+b=1$ and $c>0$, it was proved that $x_{n}=\mathcal{O}(1 / n)$. We also proved for a special choice of parameters that $x_{n} \sim c / n$ as $n \rightarrow \infty$ (see Example 1 in [18]). This example was the starting point for this paper and it hints that a similar asymptotic formula holds for every sequence defined by (5). Theorem 1 confirms this conjecture.

We can apply the main result of this paper to the following two equations:

$$
\begin{equation*}
x_{n+1}=\left(a x_{n}+b x_{n-1} e^{-x_{n-1}}\right) e^{-x_{n}}, \quad x_{0}, x_{1}>0, \quad n=1,2, \ldots, \tag{6}
\end{equation*}
$$

where $a \in(0,1), b \in[0, \infty)$, in the case when $a+b=1$ and

$$
\begin{equation*}
x_{n+1}=\left(\alpha x_{n}+\beta x_{n-1}\right) e^{-x_{n}}, \quad x_{0}, x_{1}>0, \quad n=1,2, \ldots, \tag{7}
\end{equation*}
$$

where $\alpha \in(0,1), \beta \in(0, \infty)$, in the case when $\alpha+\beta=1$.
Equations (6) and (7) may be viewed as describing some population models. Equation (6) describes the growth of a mosquito population. Equation (7) is derived from a two life stage model where the young mature into adults, and adults produce young. The global stability of these equations was studied in [9].

We can also apply the main result of this paper to the perennial grass model

$$
x_{n+1}=a x_{n}+\frac{b x_{n-1}+c}{e^{x_{n}}}, \quad x_{0}, x_{1}>0, \quad n=1,2, \ldots
$$

where $a \in(0,1), b, c \geq 0, b+c>0$, in the case when $c=0$ and $a+b=1$.
The stability and oscillatory character of solutions of this equation have been studied in [6] and [7].

Theorem 2 can be applied to the following discrete analogue of the delay logistic equation (see, for example, [13] and [14]):

$$
\begin{equation*}
N_{t+1}=\frac{\alpha N_{t}}{1+\beta N_{t-k}}, \quad \alpha, \beta>0, \quad k \in \mathbb{N} \tag{8}
\end{equation*}
$$

In [10] the authors obtain conditions for the oscillation and asymptotic stability of all positive solutions of (8) about its positive equilibrium $(\alpha-1) / \beta$. If $\alpha=1$ we can easily see that $N_{t} \rightarrow 0$ as $t \rightarrow \infty$. The rate of convergence is determined by Theorem 2.
2. Auxiliary results. Before we prove the main result we need three auxiliary results.

LEMMA 1. Let the real sequence $\left(a_{n}\right)$ of nonnegative numbers satisfy the inequality

$$
\begin{equation*}
a_{n+2} \leq(1-p) a_{n+1}+p a_{n}, \quad n \in \mathbb{N} \tag{9}
\end{equation*}
$$

where $p \in[0,1)$. Then $\left(a_{n}\right)$ converges.
Proof. Let $b_{n}=a_{n+1}+p a_{n}$. Then $\left(b_{n}\right)$ is nonnegative and nonincreasing by (9). Hence it converges. Let $\lim _{n \rightarrow \infty} b_{n}=b$.

Since

$$
a_{n}=b_{n-1}+b_{n-2}(-p)+\ldots+b_{0}(-p)^{n-1}+a_{0}(-p)^{n}
$$

in the standard manner, we obtain

$$
\lim _{n \rightarrow \infty} a_{n}=\frac{b}{1+p}
$$

as desired.
For generalizations of this useful lemma and closely related results, see [2]-[4], [16], [19] and [20].

Note that Lemma 1 solves problems 5.2.3(i) and 5.2.4(i) in [11]. This is incorporated in the following corollary.

## Corollary 1. Consider the difference equation

$$
\begin{equation*}
x_{n+1}=\frac{\beta x_{n}+\gamma x_{n-1}}{A+\delta x_{n-1}+\alpha x_{n}} \tag{10}
\end{equation*}
$$

where $\beta, \gamma, A \in(0, \infty), \alpha, \delta \in[0, \infty)$ and $\alpha+\delta>0$. Then every positive solution of (10) converges to zero if and only if $\beta+\gamma \leq A$.

Proof. Let $\beta+\gamma=A$. From (10) we have

$$
x_{n+1}=\frac{\beta x_{n}+\gamma x_{n-1}}{A+\delta x_{n-1}+\alpha x_{n}} \leq \frac{\beta}{A} x_{n}+\frac{\gamma}{A} x_{n-1}
$$

Thus by Lemma 1 the sequence $\left(x_{n}\right)$ converges, say to $x \geq 0$. Letting $n \rightarrow \infty$ in (10) we obtain $x=\frac{\beta x+\gamma x}{A+(\delta+\alpha) x}$. Hence $x=0$.

If $\beta+\gamma<A$, then from (10) it follows that

$$
x_{n+1} \leq \frac{\beta+\gamma}{A} \max \left\{x_{n}, x_{n-1}\right\}
$$

By Corollary 1 of [18] we find that $\left(x_{n}\right)$ geometrically converges to zero.
Let $\beta+\gamma>A$. Suppose that there exists a positive solution $\left(x_{n}\right)$ of (10) such that $x_{n} \rightarrow 0$ as $n \rightarrow \infty$. Then for every $\varepsilon>0$ there exists $n_{0}$ such that
$\left|\delta x_{n-1}+\alpha x_{n}\right|<\varepsilon$ for all $n \geq n_{0}$. Let $0<\varepsilon<\beta+\gamma-A$. From (10) we have

$$
x_{n+1} \geq \frac{\beta}{A+\varepsilon} x_{n}+\frac{\gamma}{A+\varepsilon} x_{n-1} \quad \text { for } n \geq n_{0}
$$

Let the sequence $\left(z_{n}\right)$ satisfy the difference equation

$$
z_{n+1}=\frac{\beta}{A+\varepsilon} z_{n}+\frac{\gamma}{A+\varepsilon} z_{n-1}
$$

where $z_{0}=x_{0}$ and $z_{1}=x_{1}$. It is easy to show by induction that $z_{n} \leq x_{n}$ for all $n \in \mathbb{N}$. The positive characteristic root of the characteristic equation of this equation is

$$
\lambda_{1}=\frac{\beta+\sqrt{\beta^{2}+4 \gamma(A+\varepsilon)}}{2(A+\varepsilon)}>1
$$

since $\beta+\gamma>A+\varepsilon$.
The other root $\lambda_{2}$ is negative and $\left|\lambda_{2}\right| \leq\left|\lambda_{1}\right|$. Since the sequence $\left(z_{n}\right)$ is positive we have

$$
z_{n}=c_{1} \lambda_{1}^{n}+c_{2} \lambda_{2}^{n}
$$

where $c_{1}>0$. Hence $z_{n} \rightarrow \infty$ as $n \rightarrow \infty$, and consequently $x_{n} \rightarrow \infty$ as $n \rightarrow \infty$, which is a contradiction.

Lemma 2. Let $p \in(0,1)$, and let the sequence $\left(y_{n}\right)$ satisfy the difference equation

$$
\begin{equation*}
y_{n}=\frac{\left(1-p+p^{2}\right) y_{n-1}+p(1-p)}{p y_{n-1}+1-p}, \quad y_{0}>0 \tag{11}
\end{equation*}
$$

Then $y_{n} \rightarrow 1$ as $n \rightarrow \infty$.
Proof. We solve this difference equation. We look for a solution of (11) in the form $y_{n}=u_{n} / v_{n}$, where the sequences $u_{n}$ and $v_{n}$ satisfy the system of difference equations

$$
\begin{align*}
& u_{n+1}=(1-p(1-p)) u_{n}+p(1-p) v_{n} \\
& v_{n+1}=p u_{n}+(1-p) v_{n} \tag{12}
\end{align*}
$$

where $u_{0}=y_{0}$ and $v_{1}=1$. This is a standard method for solving equations of this type (see, for example, [12]).

From (12) we obtain

$$
v_{n+2}-\left((1-p)^{2}+1\right) v_{n+1}+(1-p)^{2} v_{n}=0 \quad \text { for } n=0,1, \ldots
$$

and consequently

$$
\begin{equation*}
v_{n}=c_{1}+c_{2}(1-p)^{2 n} \quad \text { for } n=0,1, \ldots \tag{13}
\end{equation*}
$$

for some $c_{1}, c_{2} \in \mathbb{R}$. From (12) and (13) we obtain

$$
u_{n}=\frac{1}{p}\left(v_{n+1}-(1-p) v_{n}\right)=c_{1}-c_{2}(1-p)^{2 n+1}
$$

Hence

$$
\begin{equation*}
y_{n}=\frac{c_{1}+c_{2}(1-p)^{2 n}}{c_{1}-c_{2}(1-p)^{2 n+1}} \quad \text { for } n=0,1, \ldots \tag{14}
\end{equation*}
$$

Since $y_{n}>0$ for all $n \geq 0$ we have $c_{1} \neq 0$. Letting $n \rightarrow \infty$ in (14) we obtain the result.

Lemma 3. Let $f:(0, \infty)^{2} \rightarrow(0, \infty)$ be a continuous function such that
(a) $0<f(x, y)<p x+(1-p) y$ for some $p \in(0,1)$ and all $x, y \in(0, \alpha)$, where $\alpha>0$;
(b) $f(x, y)=p x+(1-p) y+x o(1)+y o(1)$ as $x^{2}+y^{2} \rightarrow 0$.

Let $x_{0}, x_{1} \in(0, \alpha)$ and $\left(x_{n}\right)$ be defined by (1). Then $\lim _{n \rightarrow \infty} x_{n}=0$ and

$$
\begin{equation*}
\lim _{n \rightarrow \infty} \frac{x_{n+1}}{x_{n}}=1 \tag{15}
\end{equation*}
$$

Proof. Step 1. It is clear that $\left(x_{n}\right)$ is a positive sequence. Then from (1) and by (a) we have

$$
x_{n+1}=f\left(x_{n}, x_{n-1}\right)<p x_{n}+(1-p) x_{n-1}
$$

Thus, Lemma 1 shows that the limit $x=\lim _{n \rightarrow \infty} x_{n}$ exists. Assume that $x>0$; letting $n \rightarrow \infty$ in (1), we get $x=f(x, x)$. On the other hand, from (a) it follows that $f(x, x)<p x+(1-p) x=x$ for $x>0$. Therefore $x$ must be zero.

Step 2. Let us show (15). It is obvious that (1) can be written in the form

$$
y_{n}=p-\varepsilon_{n}+\frac{1-p-\delta_{n}}{y_{n-1}}
$$

where

$$
y_{n}=\frac{x_{n+1}}{x_{n}}, \quad \varepsilon_{n}=o(1), \quad d_{n}=o(1)
$$

Hence

$$
y_{n}=\frac{\left[\left(p-\varepsilon_{n}\right)\left(p-\varepsilon_{n-1}\right)+1-p-\delta_{n}\right] y_{n-2}+\left(p-\varepsilon_{n}\right)\left(1-p-\delta_{n-1}\right)}{\left(p-\varepsilon_{n-1}\right) y_{n-2}+1-p-\delta_{n-1}}
$$

Let $z_{n}=y_{2 n}$ and $\gamma_{n}=y_{2 n+1}$. From the conditions of the lemma for every $\varepsilon>0$ there exists $n_{0} \in \mathbb{N}$ such that for every $n \geq n_{0}$ we have $\left|\varepsilon_{n}\right|<\varepsilon$ and $\left|\delta_{n}\right|<\varepsilon$. We may suppose $n_{0}=1$. Thus we have

$$
\begin{aligned}
& \frac{\left[(p-\varepsilon)^{2}+1-p-\varepsilon\right] z_{n-1}+(p-\varepsilon)(1-p-\varepsilon)}{(p+\varepsilon) z_{n-1}+1-p+\varepsilon} \\
& \quad \leq z_{n} \leq \frac{\left(1-p+\varepsilon+(p+\varepsilon)^{2}\right) z_{n-1}+(p+\varepsilon)(1-p+\varepsilon)}{(p-\varepsilon) z_{n-1}+1-p-\varepsilon}
\end{aligned}
$$

Let the sequences $\left(f_{n}\right)$ and $\left(g_{n}\right)$ satisfy the equations

$$
\begin{aligned}
& f_{n}=\frac{\left[(p-\varepsilon)^{2}+1-p-\varepsilon\right] f_{n-1}+(p-\varepsilon)(1-p-\varepsilon)}{(p+\varepsilon) f_{n-1}+1-p+\varepsilon} \\
& g_{n}=\frac{\left(1-p+\varepsilon+(p+\varepsilon)^{2}\right) g_{n-1}+(p+\varepsilon)(1-p+\varepsilon)}{(p-\varepsilon) g_{n-1}+1-p-\varepsilon}
\end{aligned}
$$

where $f_{1}=z_{1}=g_{1}$.
It is easy to see that for $\varepsilon \in(0, \min \{p, 1-p\})$ we have $0 \leq f_{n} \leq z_{n} \leq g_{n}$. As in Lemma 2 we can find explicit expressions for $\left(f_{n}\right)$ and $\left(g_{n}\right)$.

Let

$$
f_{n}=f_{n}(\varepsilon)=\frac{u_{n}(\varepsilon)}{v_{n}(\varepsilon)}=\frac{u_{n}}{v_{n}}
$$

Then as in Lemma 2 we have

$$
v_{n}=c_{1}(\varepsilon, p) \lambda_{1}^{n}(\varepsilon, p)+c_{2}(\varepsilon, p) \lambda_{2}^{n}(\varepsilon, p)
$$

where, for sufficiently small $\varepsilon>0, \lambda_{1}(\varepsilon, p)$ is close to 1 and $\lambda_{2}(\varepsilon, p)$ is close to $(1-p)^{2}$. Since

$$
v_{n+1}=(p+\varepsilon) u_{n}+(1-p+\varepsilon) v_{n}
$$

we have

$$
\begin{aligned}
u_{n} & =\frac{1}{p+\varepsilon}\left(v_{n+1}-(1-p+\varepsilon) v_{n}\right) \\
& =\left[\lambda_{1}-(1-p+\varepsilon)\right] \frac{c_{1} \lambda_{1}^{n}}{p+\varepsilon}+\left[\lambda_{2}-(1-p+\varepsilon)\right] \frac{c_{2} \lambda_{2}^{n}}{p+\varepsilon}
\end{aligned}
$$

By the same argument as in Lemma 2 we have $c_{1}(\varepsilon, p)>0$ for such $\varepsilon$.
From that we obtain

$$
\lim _{n \rightarrow \infty} f_{n}=\lim _{n \rightarrow \infty} \frac{u_{n}(\varepsilon)}{v_{n}(\varepsilon)}=\frac{\lambda_{1}-(1-p+\varepsilon)}{p+\varepsilon} \rightarrow 1 \quad \text { as } \varepsilon \rightarrow 0
$$

Similarly we obtain

$$
\lim _{\varepsilon \rightarrow 0} \lim _{n \rightarrow \infty} g_{n}(\varepsilon)=1
$$

which implies $\lim _{n \rightarrow \infty} z_{n}=1$. In the same manner we obtain $\lim _{n \rightarrow \infty} \gamma_{n}=1$, finishing the proof.
3. Proof of the main results. We are now in a position to prove the main results.

Proof of Theorem 1. Step 1. $\lim _{n \rightarrow \infty} x_{n}=0$ and $\lim _{n \rightarrow \infty} x_{n+1} / x_{n}=1$ are simple consequences of Lemma 3.

Step 2. We may suppose that $\left(x_{n}, x_{n-1}\right)$ belong to the set where (b) holds for every $n \in \mathbb{N}$. We transform (1) to a system of difference equations.

Let $x_{n}=y_{n-1}$. Then

$$
\begin{align*}
& y_{n}=p y_{n-1}+(1-p) x_{n-1}-\mathcal{K}_{m}\left(y_{n-1}, x_{n-1}\right)+o\left(\left(y_{n-1}^{2}+x_{n-1}^{2}\right)^{m / 2}\right)  \tag{16}\\
& x_{n}=y_{n-1}
\end{align*}
$$

System (16) can be written in the following matrix form:
$\left[\begin{array}{l}y_{n} \\ x_{n}\end{array}\right]=\left[\begin{array}{cc}p & 1-p \\ 1 & 0\end{array}\right]\left[\begin{array}{l}y_{n-1} \\ x_{n-1}\end{array}\right]-\left[\begin{array}{c}\mathcal{K}_{m}\left(y_{n-1}, x_{n-1}\right)+o\left(\left(y_{n-1}^{2}+x_{n-1}^{2}\right)^{m / 2}\right) \\ 0\end{array}\right]$.
Let

$$
A=\left[\begin{array}{cc}
p & 1-p \\
1 & 0
\end{array}\right]
$$

The characteristic polynomial of $A$ is $P_{2}(\lambda)=(\lambda-1)(\lambda-(p-1))$. For $\lambda=1$ and $\lambda=p-1$ we obtain the corresponding characteristic vectors

$$
\vec{w}_{1}=\left[\begin{array}{l}
1 \\
1
\end{array}\right] \quad \text { and } \quad \vec{w}_{2}=\left[\begin{array}{c}
1-p \\
-1
\end{array}\right]
$$

Let

$$
\left[\begin{array}{c}
y_{n} \\
x_{n}
\end{array}\right]=\left[\begin{array}{cc}
1 & 1-p \\
1 & -1
\end{array}\right]\left[\begin{array}{l}
v_{n} \\
u_{n}
\end{array}\right], \quad n \in \mathbb{N} .
$$

Then

$$
\begin{aligned}
{\left[\begin{array}{l}
v_{n} \\
u_{n}
\end{array}\right]=} & {\left[\begin{array}{cc}
1 & 0 \\
0 & p-1
\end{array}\right]\left[\begin{array}{l}
v_{n-1} \\
u_{n-1}
\end{array}\right] } \\
& -\frac{1}{2-p}\left[\begin{array}{cc}
1 & 1-p \\
1 & -1
\end{array}\right]\left[\begin{array}{c}
\mathcal{K}_{m}\left(v_{n-1}+(1-p) u_{n-1}, v_{n-1}-u_{n-1}\right)+\ldots \\
0
\end{array}\right]
\end{aligned}
$$

Thus we have

$$
\begin{equation*}
v_{n}=v_{n-1}-\frac{1}{2-p} \widehat{\mathcal{K}}_{m}\left(v_{n-1}, u_{n-1}\right)+o\left(\left(v_{n-1}^{2}+u_{n-1}^{2}\right)^{m / 2}\right) \tag{17}
\end{equation*}
$$

and

$$
u_{n}=(p-1) u_{n-1}-\frac{1}{2-p} \widehat{\mathcal{K}}_{m}\left(v_{n-1}, u_{n-1}\right)+o\left(\left(v_{n-1}^{2}+u_{n-1}^{2}\right)^{m / 2}\right)
$$

where

$$
\widehat{\mathcal{K}}_{m}\left(v_{n-1}, u_{n-1}\right)=\mathcal{K}_{m}\left(v_{n-1}+(1-p) u_{n-1}, v_{n-1}-u_{n-1}\right)
$$

Applying Step 1 we obtain

$$
0 \leq \lim _{n \rightarrow \infty}\left|\frac{u_{n}}{v_{n}}\right|=\lim _{n \rightarrow \infty} \frac{\left|x_{n+1}-x_{n}\right|}{x_{n+1}+(1-p) x_{n}} \leq \lim _{n \rightarrow \infty} \frac{\left|x_{n+1}-x_{n}\right|}{(1-p) x_{n}}=0
$$

Hence, from (17),

$$
v_{n}=v_{n-1}-\frac{\sum_{i=0}^{m} a_{i, m}}{2-p} v_{n-1}^{m}+o\left(v_{n-1}^{m}\right)
$$

Finally, applying Theorem A and using the fact that $x_{n}=v_{n}-u_{n}=$ $v_{n}+o\left(v_{n}\right)$ we obtain the result.

Example 1. Consider (5), where $a+b=1$. Since

$$
f(x, y)=a x+\frac{(1-a) y}{1+c y+d x}=a x+(1-a) y+(1-a) y \sum_{n=1}^{\infty}(-1)^{n}(c y+d x)^{n}
$$

uniformly in $|c y+d x|<1$, by Theorem 1 we obtain

$$
x_{n} \sim \frac{2-a}{(1-a)(c+d)} \frac{1}{n}
$$

Example 2. Consider (6), where $a, b \in(0,1)$ and $a+b=1$. Since

$$
\begin{aligned}
f(x, y) & =\left(a x+(1-a) y e^{-y}\right) e^{-x} \\
& =a x+(1-a) y+a x \sum_{n=1}^{\infty}(-x)^{n}+(1-a) y \sum_{n=1}^{\infty}(-1)^{n}(x+y)^{n}
\end{aligned}
$$

uniformly in $x^{2}+y^{2} \leq r, r>0$, by Theorem 1 we obtain $x_{n} \sim 1 / n$.
Example 3. Consider (7), where $\alpha, \beta \in(0,1)$ and $\alpha+\beta=1$. Since

$$
\begin{aligned}
f(x, y) & =(\alpha x+(1-\alpha) y) e^{-x} \\
& =\alpha x+(1-\alpha) y+x \sum_{n=1}^{\infty}(-x)^{n}+(1-\alpha) y \sum_{n=1}^{\infty}(-1)^{n} x^{n}
\end{aligned}
$$

uniformly in $x^{2}+y^{2} \leq r, r>0$, by Theorem 1 we obtain $x_{n} \sim(2-\alpha) / n$.
Proof of Theorem 2. From the conditions of the theorem we have $x_{n+1}<$ $x_{n}$ for all $n \geq k+1$. As in Theorem 1, we have $x_{n} \rightarrow 0$ and $x_{n+1} / x_{n} \rightarrow 1$ as $n \rightarrow \infty$.

From this and (3) we obtain

$$
x_{n+1}=x_{n}-\mathcal{K}_{m}(1, \ldots, 1) x_{n}^{m+1}+o\left(x_{n}^{m+1}\right)
$$

By Theorem A we obtain the result.
Example 4. Consider (8), when $\alpha=1$ and $x_{0}, x_{1}, \ldots, x_{k} \in \mathbb{R}$. Since

$$
f\left(z_{1}, \ldots, z_{k+1}\right)=\frac{z_{1}}{1+\beta z_{k+1}}=z_{1} \sum_{n=0}^{\infty}\left(-\beta z_{k+1}\right)^{n}
$$

uniformly on $\left|\beta z_{k+1}\right|<1$, by Theorem 2 we obtain $x_{n} \sim 1 /(\beta n)$.

## REFERENCES

[1] R. J. Beddington and S. J. Holt, On the dynamics of exploited fish populations, Fish. Invest. London 19 (1957), 1-53.
[2] J. Bibby, Axiomatisations of the average and a further generalisation of monotonic sequences, Glasgow Math. J. 15 (1974), 63-65.
[3] D. Borwein, Convergence criteria for bounded sequences, Proc. Edinburgh Math. Soc. (2) 18 (1972), 99-103.
[4] E. T. Copson, On a generalisation of monotonic sequences, ibid. 17 (1970), 159-164.
[5] D. Cox, Problem E 3034, Amer. Math. Monthly 91 (1984), p. 58.
[6] R. C. De Vault, G. Dial, V. L. Kocic and G. Ladas, Global behavior of solution of $x_{n+1}=a x_{n}+f\left(x_{n}, x_{n-1}\right)$, J. Differential Equations Appl. 4 (1998), 311-330.
[7] R. C. De Vault, E. A. Grove, G. Ladas, R. Levins and C. Puccia, Oscillations and stability in a delay model of perennial grass, ibid. 1 (1995), 173-185.
[8] M. E. Fisher and B. S. Goh, Stability results for delayed-recruitment models in population dynamics, J. Math. Biology 19 (1984), 147-156.
[9] E. A. Grove, C. M. Kent, G. Ladas and S. Valicenti, Global stability in some population models, in: Proc. Fourth Internat. Conf. on Difference Equations and Applications (Poznań, 1999), Gordon and Breach, to appear.
[10] S. A. Kuruklis and G. Ladas, Oscillations and global attractivity in a discrete delay logistic model, Quart. Appl. Math. 50 (1992), 227-233.
[11] G. Ladas, Open problems and conjectures, J. Differential Equations Appl. 4 (1998), 311-313.
[12] H. Levy and F. Lesman, Finite Difference Equations, Dover Publ., New York, 1992.
[13] E. C. Pielou, An Introduction to Mathematical Ecology, Wiley-Interscience, 1969.
[14] —, Population and Community Ecology, Gordon and Breach, 1974.
[15] G. Pólya und G. Szegő, Aufgaben und Lehrsätze aus der Analysis, Verlag von Julius Springer, Berlin, 1925.
[16] D. C. Russell, On bounded sequences satisfying a linear inequality, Proc. Edinburgh Math. Soc. 19 (1973), 11-16.
[17] S. Stević, Asymptotic behaviour of a sequence defined by iteration, Mat. Vesnik 48 (1996), no. 3-4, 99-105.
[18] -, Behaviour of the positive solutions of the generalized Beddington-Holt equation, Panamer. Math. J. 10 (2000), no. 4, 77-85.
[19] -, A note on bounded sequences satisfying linear inequalities, Indian J. Math. 43 (2001), 223-230.
[20] -, A generalization of the Copson's theorem concerning sequences which satisfy a linear inequality, Indian J. Math. 43 (2001), 277-282.
[21] The William Lowell Putnam Mathematical Competition, Problem A-3, Amer. Math. Monthly 74 (1967), 771-777.

Matematički Fakultet
Studentski $\operatorname{Trg} 16$
11000 Beograd, Serbia, Yugoslavia
E-mail: sstevo@matf.bg.ac.yu


[^0]:    2000 Mathematics Subject Classification: Primary 39A10.
    Key words and phrases: asymptotic behavior, sequence, difference equation, homogeneous polynomial, origin.

